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short ¥ short int 2 bytes -32768 ~ 32768
int > long B long int 4 bytes -2147483648~2147483647
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#include <iostream>

using namespace std;

void main()
{
short age;

int population;

age = 30;
population =21000000;

cout<<sizeof(short)<<endl;
cout<<sizeof(age)<<endl;
cout<<sizeof(int)<<endl;
cout<<sizeof(population)<<endl;

cout<<sizeof(long)<<endl;
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0.2 JZEEEI(Floating Point)
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float 4 bytes (+/-) 3.4%107-38 ~ 3.4%10/38
double 8 bytes (+/-) 1.7%107-308 ~ 1.7%10°308
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#include <iostream>

using namespace std;

void main()

{
float pil;
double pi2;

pil = 3.14159;
pi2 = 314159e¢-5;
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char 1 bytes -127 ~ 127
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#include <iostream>

using namespace std;

void main()

{
char letl = ‘1’;
char let2 = 50;

cout<<letl<<endl;
cout<<let2<<endl;
cout<<(int)letl1<<endl;

cout<<(int)let2<<endl;
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bool 1 bytes 0 811
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#include <iostream>

using namespace std;

void main()

{
bool testl = true;
bool test2 = false;
bool test3 =10;
cout<<testl<<endl;
cout<<test2<<endl;
cout<<test3<<endl;

}
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unsigned char 1 bytes 0~255
unsigned int 4 bytes 0~ 4294976295
unsigned short 2 bytes 0~ 65535
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#include <iostream>

using namespace std;

void main()

{
unsigned int population;
population =21000000;
cout<<population;
}
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int population;
population = 21000000;

int age = 30;
int area = 5*5%3.14159;
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const ERIIURE HHH = WIMGE;
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#define PI 3.14159

void main()

{
const double pi = 3.14159;

}
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